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𝑅 = 𝑅0 ∗ √𝐴
3

𝑉 =
4

3
𝜋 ∗ 𝑅2 =

4

3
𝜋 ∗ 𝑅0

2 ∗ 𝐴
2

3

𝜌 =
𝑚

𝑉

𝜌 =
𝐴

4

3
𝜋∗𝑅3

=
3𝐴

4𝜋∗𝑅0
3∗𝐴

=
3

4𝜋∗(1.2∗10−15)3
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 β β

β β
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Sr → Y39
90 + β1

0
38
90

Cs∗ → Cs55
137 + γ0

0
55
137

U → Th90
234 + α2

4
92
238

NA 





693.0
2/1 t
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𝑈 + 𝑛0
1

92
235 → 𝐿𝑎57

145 + 𝐵𝑟35
88 + 3 𝑛0

1

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 





 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

- 
- 
- 
- 
- 

- 
- 
- 
- 

 

http://www.thebrilliantclub.org/
https://portal.thebrilliantclub.org/sign-in
mailto:schools@thebrilliantclub.org









